

# Functional–Differential Equations with Compressed Arguments and Polynomial Coefficients: Asymptotics of the Solutions

GREGORY DERFEL

*Department of Mathematics and Computer Sciences, Ben-Gurion University,  
P.O. Box 653, Beer-Sheva, 84105 Israel*

*Submitted by G. F. Webb*

Received November 17, 1993

Functional–differential equations with linearly compressed arguments and polynomial coefficients are considered. We prove, under some mild restrictions on the coefficients, that each solution  $y(t)$  of such an equation, satisfying estimate  $|y(t)| \leq C \exp\{\gamma \ln^2 |t|\}$  ( $t \rightarrow \infty$ ), where  $0 < \gamma < \tilde{\gamma}$ , is polynomial. © 1995 Academic Press, Inc.

## 1. INTRODUCTION

Recently there has been considerable interest in problems concerning functional–differential equations (FDE) with linearly transformed arguments of the form

$$y^{(m)}(t) = \sum_{j=0}^l \sum_{k=0}^{m-1} a_{jk} y^{(k)}(\alpha_j t + \beta_j) \tag{1.1}$$

$$a_{jk} \in \mathbb{C}, \quad \alpha_j, \beta_j \in \mathbb{R}, \quad -\infty < t < \infty$$

[1, 4–11, 13–17, 19–24]. Such equations form a wide and natural class of general FDE [2, 12] and have diverse applications in areas ranging from number theory to astrophysics [10].

Provided  $A = \max |\alpha_j| < 1$ , each solution of (1.1) is an entire function of order zero and is hence unbounded both on  $\mathbb{R}_+$  and  $\mathbb{R}_-$  [16, 6]. This result cannot be strengthened in general due to the existence of polynomial

solutions of (1.1). It was proved in [5, 6] that a necessary and sufficient condition for the existence of polynomial solutions is that

$$\sum_{j=0}^l a_{j0} \alpha_j^n = 0 \quad (1.2)$$

for some  $n \in \mathbb{N}$ .

Under the assumption that Eq. (1.1) has no polynomial solutions and  $\beta_j = 0$  for all  $j = 0, \dots, l$ , one can prove a stronger result. Roughly speaking, every nontrivial solution of (1.1) grows as  $t \rightarrow \infty$  faster than  $\exp\{\gamma \ln^2 t\}$  for some  $\gamma > 0$ . More precisely, every solution of Eq. (1.1) which satisfies estimate

$$|y(t)| \leq C \exp\{\gamma \ln^2(1 + |t|)\} \quad (1.3)$$

for some  $C > 0$  and

$$\gamma < \tilde{\gamma} = \frac{1}{2 |\ln \alpha|}, \quad (1.4)$$

where  $\alpha = \min |\alpha_j|$ , vanishes identically [5, 6].

The goal of this paper is to prove a similar result for FDE with polynomial coefficients. The paper continues the study of FDE with linearly compressed arguments and polynomial coefficients initiated in [4, 17, 22, 23].

## 2. ASYMPTOTIC BEHAVIOR OF THE SOLUTIONS

Let us consider the equation

$$y^{(m)}(t) = \sum_{j=0}^l \sum_{k=0}^{m-1} \sum_{\nu=0}^r a_{jk\nu} t^\nu y^{(k)}(\alpha_j t). \quad (2.1)$$

Denote

$$\alpha = \min_{0 \leq j \leq l} |\alpha_j|, \quad A = \max_{0 \leq j \leq l} |\alpha_j|$$

and assume that  $A < 1$ .

We begin with the following general

**THEOREM 1** [4, 23]. *Every (classical) solution of (2.1) is an entire function of order zero.*

It is a well-known fact from complex analysis that any entire function of order  $\rho < \frac{1}{2}$  is unbounded on any ray in the complex plane [18]. Therefore an immediate consequence of Theorem 1 is

**COROLLARY 1.** *Every nonconstant solution of (2.1) is unbounded both on  $R_+$  and  $R_-$ .*

The main result of the paper is

**THEOREM 2.** *Suppose that  $A < 1$  and, beginning with some  $n$ :*

$$\sum_{j=0}^l a_{jor} \alpha_j^n \neq 0 \quad (n \geq N_0). \tag{2.2}$$

*Then each nontrivial solution of Eq. (2.1), which satisfies the estimate*

$$|y(t)| \leq C \exp\{\gamma \ln^2(1 + |t|)\} \tag{2.3}$$

*for all  $t \in R_+$  (or all  $t \in R_-$ ), where  $C > 0$  and*

$$\gamma < \bar{\gamma} = \frac{1}{2|\ln \alpha|}, \tag{2.4}$$

*is a polynomial.*

*Proof of Theorem 2.* The proof is based on the Wiman-Valiron theorem [18] and Lemma 1, following below. We divide the proof into 4 steps.

(a) Let us differentiate Eq. (2.1)  $n$  times, where  $n > r$ . We obtain

$$\begin{aligned} y^{(m+n)}(t) &= \sum_{j=0}^l \sum_{k=0}^{m-1} \sum_{\nu=0}^r a_{jk\nu} [t^\nu y^{(k)}(\alpha_j t)]^{(n)} \\ &= \sum_{j=0}^l \sum_{k=0}^{m-1} \sum_{\nu=0}^r a_{jk\nu} \frac{n! \nu!}{(n-\nu)! \nu!} \alpha_j^{n-\nu} y^{(k+n-\nu)}(\alpha_j t) \\ &\quad + \left[ \sum_{j=0}^l \sum_{k=0}^{m-1} \sum_{\nu=0}^r a_{jk\nu} \frac{n!}{(n-\nu+1)!} \alpha_j^{n-\nu+1} t y^{(k+n-\nu+1)}(\alpha_j t) \right. \\ &\quad \left. + \dots + \sum_{j=0}^l \sum_{k=0}^{m-1} \sum_{\nu=0}^r a_{jk\nu} \alpha_j^n t^\nu y^{(k+n)}(\alpha_j t) \right]. \end{aligned} \tag{2.5}$$

Denote  $b_n = y^{(n)}(0)$  and insert  $t = 0$  in (2.5). Taking into account the fact that the expression in the brackets on the right-hand side of (2.5) vanishes for  $t = 0$ , we obtain

$$b_{m+n} = \sum_{j=0}^l \sum_{k=0}^{m-1} \sum_{\nu=0}^r a_{jk\nu} \frac{n!}{(n-\nu)!} \alpha_j^{n-\nu} b_{k+n-\nu} \tag{2.6}$$

or

$$b_{n+m+r} = \sum_{\nu=0}^{r-1} \frac{(n+r)!}{(n+r-\nu)!} \sum_{k=1}^{m-1} \sum_{j=0}^l a_{jk\nu} \alpha_j^{n+r-\nu} b_{n+k+(r-\nu)} + \frac{(n+r)!}{n!} \left( \sum_{j=0}^l a_{j0r} \alpha_j^n \right) b_n. \tag{2.7}$$

**LEMMA 1.** *Suppose  $\{b_n\}_0^\infty$  is a nonfinite solution of the difference equation (2.7) (i.e., there exist infinitely many  $b_n \neq 0$  ( $n = 0, 1, \dots$ )).*

*Suppose also that beginning with some  $N \geq N_0$  inequality (2.2) holds. Then for each sufficiently large  $N$  ( $N \geq N_1 \geq N_0$ ) there exists an  $n$ :  $N(m+r) + 1 \leq n \leq (N+1)(m+r)$  such that*

$$|b_n| \geq D^n \alpha^{n^2/2} \tag{2.8}$$

In order not to interrupt the presentation, the proof of Lemma 1 will be given at the end of the paper.

Now we deduce Theorem 2 from Lemma 1 by means of the Wiman–Valiron theorem.

(b) Suppose that  $y(t)$  is not polynomial. We shall demonstrate that in this case (2.3) is satisfied only if  $y(t) \equiv 0$ .

According to Theorem 1 [4, 23], every solution  $y(t)$  of Eq. (2.1) can be extended to the complex plane as an entire function  $y(z)$  of zero order:

$$y(z) = b_0 + \frac{b_1}{1!} z + \dots + \frac{b_n}{n!} z^n + \dots$$

Denote, as usual,

$$m(r) = \min_{|z|=r} |y(z)|, \quad M(r) = \max_{|z|=r} |y(z)|.$$

It is obvious that

$$|y(t)| \geq m(r), \quad |t| = r. \tag{2.9}$$

According to the Wiman–Valiron theorem, for every entire function of order  $\rho < 1$  and every  $\varepsilon > 0$  there exists a sequence  $r_i \rightarrow \infty$  such that

$$m(r_i) \geq M(r_i)^{|\cos \pi \rho - \varepsilon|}. \tag{2.10}$$

In particular, for an entire function of order  $\rho = 0$

$$m(r_i) \geq M(r_i)^{1-\varepsilon} \tag{2.11}$$

It follows from (2.9), (2.11), and the Cauchy inequality that

$$|y(t)| \geq M(r)^{1-\varepsilon} \geq \sup_{0 \leq n \leq \infty} \left( \frac{|b_n|}{n!} r^n \right)^{1-\varepsilon} \tag{2.12}$$

for  $t = \pm r_i$ .

By our assumption,  $y(x)$  is not a polynomial, that is,  $\{b_n\}$  is a nonfinite sequence and Lemma 1 can be applied to estimate  $b_n$  from below. Then one obtains from (2.12) and (2.8) that

$$|y(t)| \geq \sup_{n \in \mathfrak{M}} \left[ \frac{(Dr)^n}{n! (1/\alpha)^{n^2/2}} \right]^{1-\varepsilon}, \tag{2.13}$$

where  $\mathfrak{M} = \{n_1, n_2, \dots\}$  is a sequence of integers such that

$$0 < n_{i+1} - n_i \leq 2s; \quad N_1 s + 1 \leq n_i; \quad n_i \xrightarrow{i \rightarrow \infty} \infty. \tag{2.14}$$

Here and further  $s = m + r$ .

By Stirling's formula

$$n! (1/\alpha)^{n^2/2} \leq c_1 (1/\alpha)^{((1+\varepsilon)/2)n^2}.$$

for each  $\varepsilon > 0$  and some  $c_1 = c_1(\varepsilon) > 0$ . Thus

$$|y(t)| \geq c_1 \left[ \sup_{n \in \mathfrak{M}} \frac{(Dr)^n}{E^{n^2/2}} \right]^{1-\varepsilon}, \tag{2.15}$$

with  $E = (1/\alpha)^{1+\varepsilon}$ .

(c) In order to find  $\sup_{n \in \mathfrak{M}} [(Dr)^n/E^{n^2/2}]$  we introduce the function

$$f(x) = \frac{(Dr)^x}{E^{x^2/2}} = e^{-(\ln E/2)x^2 + (\ln Dr)x} \tag{2.16}$$

of the continuous argument  $x$ . The function  $f(x)$  attains its maximal value together with the quadratic polynomial

$$\varphi(x) = - \left( \frac{\ln E}{2} \right) x^2 + (\ln Dr)x$$

at the point  $x_{\max} = \ln(Dr)/\ln E$ . For  $r$  sufficiently large  $x_{\max} > 0$  and according to (2.14) one can find  $n_{i_0}$  such that

$$0 < n_{i_0} - x_{\max} \leq s. \tag{2.17}$$

Therefore

$$\sup_{n \in m} \frac{(Dr)^n}{E^{n^2/2}} \geq f(n_{i_0}) \geq f(x_{\max} + 2s), \tag{2.18}$$

with the second inequality fulfilled since  $y(x)$  is monotonically decreasing for  $x > x_{\max}$ . But

$$\begin{aligned} f(x_{\max} + 2s) &= e^{-2s^2 \ln E} e^{(1/2 \ln E) \ln^2 Dr} \\ &= e^{-2s^2 \ln E} \cdot e^{\ln^2 D/2 \ln E} \cdot D^{\ln r/\ln E} \cdot e^{\ln 2r/2 \ln E} \geq C e^{(1-\varepsilon) \ln^2 r/2 \ln E}. \end{aligned} \tag{2.19}$$

From (2.15), (2.18), (2.19), and by the definition of  $E = ((1/\alpha)^{+\varepsilon})$  it follows that for each nonpolynomial solution  $y(t)$  we have

$$y(t) \geq C e^{(1-\varepsilon)^2/(1+\varepsilon) \cdot (1/2) |\ln \alpha| \ln^2 r} \geq C e^{((1-\delta)/2) |\ln \alpha| \ln^2 r} \tag{2.20}$$

for any  $\delta > 0$  and big enough  $t = \pm r_n$ .

This completes the proof modulo Lemma 1.

(d) *Proof of Lemma 1.* Rewrite (2.7) in the form

$$\begin{aligned} b_n &= \frac{n!}{(n+r)! \sum_{j=0}^l a_{jor} \alpha_j^n} \left[ b_{n+m+r} - \sum_{\nu=0}^{r-1} \frac{(n+r)!}{(n+r-\nu)!} \right. \\ &\quad \left. \times \sum_{k=1}^{m-1} \sum_{j=0}^l a_{jkr} \alpha_j^{n+r-\nu} b_{n+k+(r-\nu)} \right] \end{aligned} \tag{2.21}$$

and observe that (2.2) implies the inequality

$$\left| \sum_{j=0}^l a_{jor} \alpha_j^n \right| \geq D_1 \alpha^n, \quad n \geq N_1 \tag{2.22}$$

for  $N_1$  sufficiently large. It follows from (2.21) and (2.22) that

$$|b_n| \leq D_2 \alpha^{-n} \max_{1 \leq i \leq s} |b_{n+i}|, \quad n \geq N_1, \tag{2.23}$$

with  $s = m + r$  (and we can assume without loss of generality that  $D_2 \geq 1$ ).

Denoting

$$M_{N_1+1} = \max \{|b_{s_{N_1+1}}|, \dots, |b_{s_{(N_1+1)}}|\}$$

we obtain

$$M_{N_1} \leq D_2^{s_{N_1}} \alpha^{-\{s_{(N_1+N')} + \{s_{(N_1+N')-1} + \dots + s_{(N_1+1)}\}} \cdot M_{N_1+N'} \tag{2.24}$$

for any positive integer  $N'$ . In order to prove (2.24) successively put  $n$  equal  $s(N_1 + N')$ ,  $s(N_1 + N') - 1$ , ...,  $sN_1 + 1$ , in (2.23), whence

$$\begin{aligned} |b_{s_{(N_1+N')}}| &\leq D_2 \alpha^{-s_{(N_1+N')}} M_{N_1+N'}, \\ |b_{s_{(N_1+N')-1}}| &\leq D_2 \alpha^{-s_{(N_1+N')-1}} \max \{D_2 \alpha^{-s_{(N_1+N')}} , M_{N_1+N'}, M_{N_1+N'}\} \\ &= D_2^2 \alpha^{-s_{(N_1+N')}} \alpha^{-s_{(N_1+N')-1}} M_{N_1+N'}, \\ &\dots \\ |b_{s_{N_1+1}}| &\leq D_2^{s_{N_1}} \alpha^{-s_{(N_1+N')}} \dots \alpha^{-s_{(N_1+1)}} M_{N_1+N'}, \end{aligned}$$

which proves (2.24).

It follows from (2.24) that

$$\begin{aligned} M_{N_1+N'} &\geq D_2^{-s_{(N_1+N')}} \alpha^{[1+\dots+s_{(N_1+N')}] } M_{N_1} \\ &\geq D_3^{s_{(N_1+N')}} \alpha^{(1/2)[s_{(N_1+N')}]^2} M_{N_1} \end{aligned} \tag{2.25}$$

for some  $D_3 > 0$  (without loss of generality we may assume that  $D_3 < 1$ ).

Note that  $M_{N_1} \neq 0$ , because otherwise (according to (2.7))  $b_n = 0$  for every  $n \geq sN_1$ , which is in contradiction with our assumption about the nonfiniteness of  $\{b_n\}_{n=0}^\infty$ . Now (2.8) follows from (2.25). This proves the lemma.

*Remark 1.* Strict inequality  $A < 1$  is essential for the validity of Theorem 2. In fact, consider the equation

$$y'(t) = ay(\alpha t) + by(t); \quad 0 < \alpha < 1; \quad |a| < |b| \tag{2.26}$$

with  $A = \max |\alpha_j| = 1$ . It was proved by T. Kato and J. B. McLeod [14, Th.3(i)] that  $\lim_{t \rightarrow \infty} y(t) = 0$  for any solution of (2.26), in contrast with the statement of Theorem 2.

*Remark 2.* A special case of Theorem 2, relating to the equation

$$y'(t) = ay(At), \quad 0 < A < 1$$

has been proved by N. G. de Bruijn [3] (see also [14]).

*Remark 3.* It was proved in [5] that, provided  $A < 1$ , every solution of (1.1) satisfies (2.3) with  $\gamma = m/(2|\ln A|)$ . In a similar manner, for FDE (2.1) with polynomial coefficients analogous upper bound of the solutions can be obtained. Provided  $A < 1$ , there exists  $\tilde{\gamma}_1 > (\tilde{\gamma})$  such that any solution of (2.1) satisfies (2.3), where  $\gamma > \tilde{\gamma}_1$ .

#### ACKNOWLEDGMENTS

This research was partially supported by Israel Ministry of Science and the Israel Academy of Sciences and Humanities. The author is grateful to Prof. S. Streliz for useful conversations on the subject of this paper.

#### REFERENCES

1. J. BELAIR, Sur une equation differentiale fonctionally analytique, *Canad. Math. Bull.* **24**, No. 1 (1981), 43–46.
2. R. BELLMAN AND K. L. COOKE, "Differential–Difference Equations," Academic Press, New York, 1963.
3. N. DE BRUIJN, The difference–differential equation  $F'(x) = e^{\alpha x + \beta} F(x - 1)$ , *Nederl. Acad. Wetensch. Proc. Ser. A* **15** (1953), 449–464.
4. K. COOKE AND J. WIENER, Distributional and analytic solutions of functional differential equations, *J. Math. Anal. Appl.* **98** (1984), 111–129.
5. G. DERFEL, "On the Asymptotics of the Solutions of Functional–Differential Equations with Linearly Transformed Arguments, Ph.D. thesis, Tbilisi, 1977. [Russian]
6. G. DERFEL, On the asymptotics of the solutions of a class of functional–differential equations, in "Asymptotic Behaviour of the Solutions of Functional–Differential Equations" (A. Sharkovsky, Ed.), pp. 58–66, Institute of Math. of Ukrainian Ac. Sci Press, Kiev, 1978. [Russian]
7. G. DERFEL, Probabilistic methods for a class of functional–differential equations, *Ukrainian Math. J.* **41**, No. 10 (1989), 1137–1141.
8. G. DERFEL AND S. MOLCHANOV, Spectral methods in the theory of functional–differential equations, *Math. Notes* **47**, No. 3 (1990), 250–260.
9. G. DERFEL, T. Kato's problem for functional–differential equations and difference Schrödinger operator, in "Operator Theory: Advances and Applications No. 46, pp. 319–321, Birkhauser, Basel, 1990.
10. G. DERFEL, Functional–differential and functional equations with linearly transformed arguments, Ben-Gurion University, preprint, 1992; talk given at London Mathematical Society Durham Symposium on "Evolutionary Problems," Durham, 1992.
11. A. FELDSTEIN AND Z. JACKIEWICH, Unstable neutral functional–differential equations, *Canad. Math. Bull.* **33** No. 4 (1990), 428–433.
12. J. HALE, "Theory of Functional–Differential Equations," Springer-Verlag, New York/Berlin, 1977.
13. A. ISERLES, On generalized pantograph functional–differential equation *European J. Appl. Math.* **4** (1993), 1–38.
14. T. KATO AND J. B. MCLEOD, The functional–differential equation  $y'(x) = ay(\lambda x) + by(x)$ , *Bull. Amer. Math. Soc. (N.S.)* **77** (1971), 891–937.
15. Y. KUANG AND A. FELDSTEIN, Monotonic and oscillatory solutions of linear neutral delay equations with infinite lag, *SIAM J. Math. Anal.* **21**, No. 6 (1990), 1633–1641.



16. G. R. MORRIS, A. FELDSTEIN, AND E. W. BOWEN, The Phragmen-Lindelf principle and a class of functional differential equations, in "Ordinary Differential Equations" (L. Weiss, Ed.) pp. 513-540, Academic Press, New York, 1972.
17. S. M. SHAH AND J. WIENER, Distributional and entire solutions of ordinary differential and functional differential equations, *Internat. J. Math Math. Sci.* **6** (1983), 243-270.
18. E. C. TITCHMARSH, "The Theory of Functions," 2nd ed., Oxford Univ. Press, London, 1958.
19. K. G. VALEEV, Linear differential equations with delays, linearly depending on the argument, *Sibirsk. Mat. Zh.* **5** (1964), 290-309.
20. G. VALIRON, "Fonctions Analytiques," Presses Univ. de France, Paris, 1954.
21. F. VOGL, Das Wachstum ganzer Lösungen gewisser linearer Functional-Differentialgleichungen, *Monatsh. Math.* **86**, No. 3 (1978/1979), 239-250.
22. F. VOGL, Über ein System linearer Functional-Differentialgleichungen, *Z. Angew. Math. Mech* **60**, No. 1 (1980), 7-17.
23. J. WIENER, Distributional and entire solutions of linear functional differential equations, *Internat. J. Math. Math. Sci.* **5** (1982), 729-736.
24. J. WIENER, K. L. COOKE, AND S. M. SHAH, Coexistence of analytic and distributional solutions for linear differential equations, II, *J. Math. Anal. Appl.* **159** (1991), 271-289.